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Proposed by Daniel Sitaru – Romania  

Solution 1 by Samed Ahmedov-Azerbaijan 
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Solution 2 by Adrian Popa-Romania 
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Solution 3 by Ankush Kumar Parcha-India 

We have, 𝒇:ℝ → ℝ, (𝒇 ∘ 𝒇)𝒙 + 𝒇(𝒙) = 𝒙, ∀𝒙 ∈ ℝ 
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Solution 4 by Ravi Prakash-New Delhi-India 

𝒇(𝒇(𝒙)) + 𝒇(𝒙) = −𝒙        (1) 

⇒ 𝒇(𝒇(𝒇(𝒙))) + 𝒇(𝒇(𝒙)) = −𝒇(𝒙) ⇒ 𝒇(𝒇(𝒇(𝒙))) + 𝒇(𝒇(𝒙)) + 𝒇(𝒙) = 𝟎 
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